(A-l-m')l

Ay*nd
(=M<

DO x m SN

(=1=2m2)0

C‘x-

2. Given the fiincting ¢ o0

1 Scamedvith |
g CamScanner


https://v3.camscanner.com/user/download

TR e TR \fv - - f 'Z-H"

2. Given the function / defined |
: )y

f(x) = 4x? = 8x + 3. what
the coordinates of its vertex? -

A. (1,-1)
B. (—1,15)
C. (2.3)

D. (=2, 35)

- s~
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Y, . %
J. If "y>3x—=1, and 3x>s
whichof the following is true? 6.
Ay >3
B. y>4
C.y<7
D. y<4

Scamed vih
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D. y<4

Jx2+4-=3=x+4

4. 'Which of -the following is the
solution of the equation above?
45

A X ===
14

14
B' x T e —
45

14

C. x==—
45

45
. X =
D 14
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‘&

)
D

s

. . Lo
5. Which of the Tollowing equatt,

Is represented in the gra
Acy =(x=2)x+ N
B.y=x(x+ 191€ Sy 2)

Ph abo"ic ?
+ 1)

C. y=(x+2)(x"'3)(x‘

1_3)(x +1)
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D. 'y=(x—2)(x-—3)(1"' » L

—S5) +
2a +3(4a—5) ooy

. A
6. Solvethe cquauion aboVv

A a=1
/a=2
C.a=4

D.a=11

¢t e oan ML
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- a = Gl i » -5

7. Which of the following "________
solution for12x — 1\ > 372

lLox =2
Il.x=0
, & Hl.x =2
i A. lonly
+47 B. I only
C. land

D. 1l and 111

nnnnnnnnnnn
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+ o the “Elm: above, the radius of
¢ circle (s doem, and the minor
wC AB has-n length of 2m cm.
What 45 fhe measure ol angle
AOBY (P iQure nat drawn to scale)
A. 60°
B. 90°
C. 120°

D. 135°
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10. Given the line with equation
Sy — 3(x — 2) = —1, which of the

following statements is true?

P
A. The slope of the line is 2. and
the line is decreasing.

B. The slope of the line is --:-;-. and
the line is decreasing.

é. The slope of the line is -z- and
the line isincreasing.

D. The slope of the line is —%, and
the line is increasing.

edvith
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11.If i = =1, what is the sum of
4 + 7fand =2 + 717

A 1+ 141
B. 2

C. 141

D. 2+ 14

Scamed vih
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pcr|wl1dKU|ﬂf w the
equation 3y + % $51
e
' ]

1 Soamed it |
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7
L3

D. b'3? ) b S -

15. Given lhet.)functicm g defined LY

3x2l4 6x + 1. which ot
g(x); 3:': '25 is/are
the - following statements
true?

@{_The graph of g concaves Ug(
upwards. e

,LI/. The axis of symmetry of the
graph is at the Esnive Jside of
the x-axis. ’

llI.Tl}c. graph of ' g reaches g
minimum valye,

A. |only
B. 1l only
Co Land 1y

nnnnnnnnnnn
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16. If
thef;l(x) ~ ¥ =4, and g(x) = 3x —
F(g(~2)) < L
A. 44
B. 45
C. 49
D. 53

Seaed wih
g CaMScanner
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B C

17. In the figure above, ABC is a right

_triangle at B, such that
AC

AC =16cm. If AB=— and
mzACB = x°. thenx =

A. 30

B. 45

C. 60

D. 75

nnnnnnnnn . CamScanner
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{x + 2y =—1

' 2x=y+8

(8. The value of x that satisfies the
system of equations above Is:

A. 1

0w
=0 N
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19. The coefficient of the x term in the
expansion of (2= 3x)(x* + 4x + 1)
is:
A.
B.
C.
D. 11

Seaed wih
B CAMSCANNET
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27 < 4x —3 €31

20. The only integer that satisfies the
inequality above is:

A. 8

B. 11
C. 28
D. 32

Seaed wih
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